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PART A — (10 ¥ 2 20 marks)

1 :_ 'lee the 51gn1f1cant dlfferences between a f11e system and a DBMS
| A Descrlbe the dlfferent types of attrlbutes in ER Model

B 3. lee the s1gn1flcance of mtegmty constramts in demgmng a relatlonal database
' "deSIgn : :

. 4 _.-.Llst all the types of join.
5 Y VVhat are the advantages and dlsadvantages of views in the d.atabase"
6 Wnte down the importance of trlggers |
' _ ’7 .' -:What do you understand by Functlonal dependency‘7
8. | :' Where do we use BCNF? Why? .
© 9. Differentiate RBAC with DAC,

10, List the types of queries in IR systems.



13.

B (ii)

(b)

()

(b)

escnbe the system structure of a database system Wlth neat block.:;-_

r&rariz;g<sx“ls;;es;nérksj;_--

Or

Gwe the buﬂdmg blocks of the TR dlagram | o a ©

_ Dlscuss about Aggregation, Spemahzatlon and Generahzatron in’
. enhanced ER Model. SR m _ (M

Explam the basic operators and set operators in Relatwnal Algebra RN T

with suitable example. = R (7)
Consider the relational d'at:é.Bee‘e" R |
employee(empnam street czty)

Works(empnam companyname salary)

' .company(companxnam olty)

manages(empnam managername)

erte each of the followmg querles in relatlonal algebra

'Fmd the names of all’ employees who Work for elty bank
-corporatmn B O ST T (2)

Delete the tuples in the works relatron for employees of union bank
eorporatron R B PR (2)

Assume the compames may be located in several cities. Find all the
companies located in every city in which state bank corporation is
located. o (2)

Or_

Explam in detall about the aggregate operators supported in SQL with
an 111ustratlon

Create a trigger to update oount as students register for sports event,
Explam the trrgger in detaﬂ

o
By connect1v1ty through ODBC.- v (7

(i)

oai
Explam the step by step procedure for establishing the database

'D1scuss about VleWs in SQL and the problems that may arise when

updatmg the v1ews with a suitable example 6)
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14. (a)

(b)

15.  (a)

(b)

(b)

What are functional dependencies? Explain how primary keys are related
to functional dependencies

Or

Why normalization is mandatory in database design and Explain various
normal forms in detail.

@@
(i)

ity

Distinguish discretionary from mandatory security. (5)

Explain the implementation :of access control in distributed
databases. (8)

Or

Explain in detail about bmary mdependence model for Probability
Rankmg Pmnczple (PRP) : N (8)

Analyze how the query generatlon probability for query hkehhood
model can be estlmated R {5)

PART C e (1 X 15 15 marks)

Descmbe the steps 1nv01ved in query processing. 5

Lot the relatmns r1 (A B C) and r2 (C, D, E) have the followmg
propertles i _ (10)

rl has 20000 tuples r2 ag 45000 tuples 25 tuples of rl f1t on one
block: and 30 tuples of r2 flt on one block. Estimate the number of
block

accesses reqmred usmg each of the followmg join strategles for

r1D~<]r2

. Nested Ioep Jom
Block nested 1oop ]om
Merge 30111

. Hash j join:

Or

Design an ER model for university enterprise system. Mention the
constraints considered by you and expiam the steps involved in arriving
the model.
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